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£7c 1ha=10000m* , 1a=100m* 7=DC 10000--100=100 &% Tha=100a
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&fc. Tkm’=1000000m* , Tha=10000m* 7x¢C 1000000--10000=100 &'} Tkm’=100ha
Tkm*EThad 1008 CH B EDDLH I ET,

m? a ha km’
m’ Tm’ 0.07a 0.0001ha 0.000001km?
1a 100m? Ta 0.01ha 0.0001km?
Tha 10000m* 100a Tha 0.01km?
Tkm? 1000000m* 10000a 100ha Tkm?
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(1)  1Tm? — 100cm X 100cm=10000cm>
5m? — 5X10000=50000cm?

(2)  1Tm? — 100cm X 100cm=10000cm>
30000cm? — 30000-+10000=3m?

(3)  1a — 10mX10m=100m’
400m? — 400+100=4a

(4)  Tha — 100mX100m=10000m"
80000m* — 80000-+10000=8ha
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(5) 1ha=10000m?, 1a=100m’ =M T 1hal1a?®100/Z , Tha=100a
12ha — 12X 100=1200a

(6)  1km? — 1000m X 1000m=1000000m> (BAEH*X— k)b)
9%km’ — 9X 1000000=9000000m?

(7)  1km’=1000000m’ , Tha=10000m’ =MD Tkm’l£Tha®100/Z , 1km’=100ha
400ha — 400-+100=4km?
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(1) 25m’=Ccm’

(2)  8000cm’=[Im’

(3) 56ha=[la

(4) 0.024ha=[]a

(5) 72a=Llha

(6) 560m’=[Jha

(7)  004km’=[ha

ZA (1) 25000cm?® (2) 0.8m* (3) 560a (4) 24a (5) 0.72ha (6) 0.056ha (7) 4ha

[B78 2 DfRs]

6m’lE 6X10000=60000cm’* TTJ, [EILLDIC 0.5m*E 0.5X10000=5000cm* TT,
500al& 500+100=5ha Td, ALCELDlc 12al& 12+-100=0.12ha T,
INETEEREBLCLS ICFHELET,

(1) 1Tm?=100cm X 100cm=10000cm?’
2.5m? — 2.5%10000=25000cm’

(2)  1Tm?*=100cm X 100cm=10000cm?
8000cm? — 8000-+10000=0.8m?>

(3) 1ha=100a
56ha — 5.6X100=560a

(4) 1ha=100a
0.024ha — 0.024x100=2.4a
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(5) 1ha=100a
72a — 72-+100=0.72ha

(6)  Tha=100m X 100m=10000m?
560m> — 560-10000=0.056ha

(7)  1km?=1000m X 1000m=1000000m?
Tha=100m X 100m=10000m?
& 27T Tkm? = 1000000--10000=100ha
0.04km? — 0.04x 100=4ha
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(1) 24mE160cm’DLET T,
(2)  1.8halF30aD[EFTY,
(3)  7km’X14haDfZ T,

(B8 3 DfRER]
AELZRODHEEIFBEMZZTAZACGTELE T,
FIZIE. 35alE7m DS TH HHERDE T,
35a — 35%100=3500m’

£ 27T 3500+7=500(1%) &£&EWET,

(1)  24m? = 24X10000=24000cm?
24000+ 160=150(%)

(2) 18ha — 1.8X100=180a
180+30="6(f5)

(3)  7km’ = 7X100=700ha
700+14=50(1%)
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(1) (2)

200cm

()28 4 DfEER]

(1) (=EAEoER)=(E)X[EE)+2
200X 350-+2=35000cm’
Tm’=10000cm’ =D
35000cm’® — 35000--10000=3.5m"

(BIIfR)
AXDLEDICEFICcmEMICBELTHASHELEX T,
2X35+2=35m’
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(2) @EFoEH=( (LE)+(FE) IXESE)+2
(50+120) X 100-+-2=8500cm’
Tm’=10000cm’ =D
8500cm?’ — 8500--10000=0.85m"

Gl
ARD&SICEECmEMICELTH 55 ELET, 0om
(05+1.2)X1+2=0.85m’ N
i Tm
I_/
1.2m

RAVNEED
+ Tm’=TmX1m=100cm X 100cm=10000cm’
+ 1a=10m X 10m=100m*
+ Tha=100m X 100m=10000m’
+ Tkm*=Tkm X Tkm=1000m X 1000m=1000000m*
+ Tha=100a
- Tkm?*=100ha

(C) 2014 min-san.com


https://www.min-san.com
https://www.min-san.com/unit/z4/10/2/

